PENN 10-TEAM SELECT

JANUARY 14, 2023 ~ OCEAN BREEZE TRACK & FIELD ATHLETIC COMPLEX ~ STATEN ISLAND, N.Y.

60 Meters Preliminaries	Place	<u>Time</u>
Jane Livingston	3rd of 30	7.64
Jada Thomas	14th	7.96
Myonica Jackson	16th	8.00
Alexis Martin	20th	8.07
60 Meters	<u>Place</u>	Time
Final		
Jane Livingston	8th	7.88
60 Meter Hurdles	Place	Time
Preliminaries		
Jane Livingston	1st of 13	8.55
Jada Thomas	8th	8.98
60 Meter Hurdles	<u>Place</u>	<u>Time</u>
Final		
Jane Livingston	1st of 8	8.56
Jada Thomas	8th	9.83
00035	D.	mo.
200 Meters	Place	Time
Myonica Jackson	16th of 35	25.99
Alexis Martin	18th	26.32
800 Meters	Place	Time
Kate Flynn	8th of 12	2:30.54
Trace 1 lyllin	011 01 12	2.50.51
Mile	Place	Time
Kinsey Pogue	20th of 31	5:14.93
Long Jump	<u>Place</u>	<u>Mark</u>
Caroline Carlson	5th of 12	5.21m
Shot Put	<u>Place</u>	<u>Mark</u>
Liv Morgan	6th of 8	11.60m

VILLANOVA INVITATIONAL

JANUARY 21, 2023 ~ OCEAN BREEZE TRACK & FIELD ATHLETIC COMPLEX ~ STATEN ISLAND, N.Y.

60 Meters Preliminaries	<u>Place</u>	<u>Time</u>
Jada Thomas	10th of 33	7.83
Alexis Martin	19th	7.97
Myonica Jackson	21st	8.00
Caroline Carlson	24th	8.06
60 Meter Hurdles Preliminaries	<u>Place</u>	<u>Time</u>
Jada Thomas	6th of 19	8.92
60 Meter Hurdles	<u>Place</u>	<u>Time</u>
Jada Thomas	4th of 8	8.85
400 Meters	<u>Place</u>	<u>Time</u>
Micah Trusty	2nd of 30	56.69
Madison Martinez	3rd	56.78
800 Meters	Place	<u>Time</u>
Kate Flynn	15th of 19	2:28.91
1000 Meters	<u>Place</u>	<u>Time</u>
Lydia Olivere	2nd of 22	2:45.25
Maya Dorer	3rd	2:45.75
Emily Robinson Alex Stasichin	4th 5th	2:48.97 2:51.21
Alex Stasiciiii	Jui	2.31.21
Mile	<u>Place</u>	<u>Time</u>
Mile Emma McGill	Place 2nd of 20	<u>Time</u> 4:40.38
Emma McGill	2nd of 20	4:40.38
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay	2nd of 20 Place 5th of 18 Place	4:40.38 <u>Time</u> 10:15.82 <u>Time</u>
Emma McGill 3000 Meters Kinsey Pogue	Place 5th of 18 Place 1st of 15	4:40.38 <u>Time</u> 10:15.82 <u>Time</u> 3:47.45
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay	Place 5th of 18 Place 1st of 15 Ist Leg	4:40.38 <u>Time</u> 10:15.82 <u>Time</u> 3:47.45 58.58
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg	4:40.38 <u>Time</u> 10:15.82 <u>Time</u> 3:47.45 58.58 56.75
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg	4:40.38 <u>Time</u> 10:15.82 <u>Time</u> 3:47.45 58.58 56.75 56.98
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A'	Place 5th of 18 Place 1st of 15 1st Leg 2nd Leg 3rd Leg Anchor	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay	Place 5th of 18 Place 1st of 15 1st Leg 2nd Leg 3rd Leg Anchor	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A'	Place 5th of 18 Place 1st of 15 1st Leg 2nd Leg 3rd Leg Anchor	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A'	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 2nd Leg	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A'	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 3rd Leg	Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54 58.49
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A' Villanova 'B'	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 3rd Leg Anchor	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54 58.49 1:04.37
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A' Villanova 'B'	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 3rd Leg Anchor	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54 58.49 1:04.37
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A' Villanova 'B'	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 3rd Leg Anchor	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54 58.49 1:04.37
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A' Villanova 'B'	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 3rd Leg 2nd Leg 2nd Leg 2nd Leg 4nchor	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54 58.49 1:04.37
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A' Villanova 'B' High Jump Taylor Woodeshick	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 3rd Leg 4nchor Place tie-5th of 12	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54 58.49 1:04.37 Mark 1.60m
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A' Villanova 'B' High Jump Taylor Woodeshick Shot Put Liv Morgan	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 3rd Leg 2nd Leg 2nd Leg 2nd Leg 5th of 12 Place 15th of 19	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54 58.49 1:04.37 Mark 1.60m Mark 10.82m
Emma McGill 3000 Meters Kinsey Pogue 4x400 Meter Relay Villanova 'A' Villanova 'B' High Jump Taylor Woodeshick Shot Put	Place 5th of 18 Place 1st of 15 Ist Leg 2nd Leg 3rd Leg Anchor 12th Ist Leg 2nd Leg 3rd Leg 2nd Leg 2nd Leg 2nd Leg 4nchor	4:40.38 Time 10:15.82 Time 3:47.45 58.58 56.75 56.98 55.15 4:03.48 1:00.10 1:00.54 58.49 1:04.37 Mark 1.60m Mark

PENN STATE NATIONAL OPEN

January 27, 2023 ~ Horace Ashenfelter III Indoor Track ~ University Park, Pa.

60 Meters Preliminary Heats	<u>Place</u>	<u>Time</u>
Caroline Carlson	44th of 44	8.08
60 Meter Hurdles Preliminray Heats	<u>Place</u>	<u>Time</u>
Jane Livingston	3rd of 23	8.50
Jada Thomas	11th	8.90
Semifinal Heats		
Jane Livingston	3rd of 16	8.36
Jada Thomas	7th	8.72
800 Meters	<u>Place</u>	<u>Time</u>
Madison Martinez	6th of 32	2:08.85
Maya Dorer	8th	2:09.16
Alex Stasichin	12th	2:09.67
Mile	Place	<u>Time</u>
Emily Robinson	13th of 31	4:54.76
Long Jump	<u>Place</u>	<u>Mark</u>
Caroline Carlson	19th of 22	5.10m

UNSEEDED SECTIONS

Weight Throw	<u>Place</u>	<u>Mark</u>
Faith Haught	30th of 31	14.34m

PENN STATE NATIONAL OPEN

January 28, 2023 ~ Horace Ashenfelter III Indoor Track ~ University Park, Pa.

4x400 Meter Relay Villanova Myonica Jackson Micah Trusty Maya Dorer Madison Martinez Shot Put Liv Morgan	Place 8th of 16 1st Leg 2nd Leg 3rd Leg Anchor Place 22nd of 29	<u>Time</u> 3:48.62 59.81 55.81 57.74 55.27 <u>Mark</u> 12.49m	
INVITATIO	ONAL SECTIONS		
600 Meters Micah Trusty	Place 2nd of 7	<u>Time</u> 1:30.47	
1000 Meters Anna Helwigh	Place 3rd of 12	<u>Time</u> 2:49.21	
3000 Meters Ariana Gardizy	Place 7th of 10	<u>Time</u> 9:34.72	
High Jump Roschell Clayton	Place 2nd of 10	<u>Mark</u> 1.71m	
Pole Vault Ashley Preston	Place 11th of 11	<u>Mark</u> 3.70m	
UNSEEDED SECTIONS			
200 Meters Myonica Jackson Alexis Martin	Place 17th of 24 24th	<u>Time</u> 25.38 26.11	

BRUCE LEHANE SCARLET AND WHITE OPEN FEBRUARY 3, 2023 ~ TRACK & TENNIS CENTER ~ BOSTON, MASS.

Distance Medley Relay	Place	Time
Villanova	3rd of 6	11:01.21
Emma McGill	1200 Meters	3:24.87
Micah Trusty	400 Meters	56.22
Madison Martinez	800 Meters	2:03.94
Lydia Olivere	1600 Meters	4:36.20

BRUCE LEHANE SCARLET AND WHITE OPEN FEBRUARY 4, 2023 ~ TRACK & TENNIS CENTER ~ BOSTON, MASS.

800 Meters Madison Martinez Micah Trusty	Place 6th of 69 15th	<u>Time</u> 2:03.68 2:07.19
<u>Mile</u> Lydia Olivere	Place 11th of 63	<u>Time</u> 4:42.60
3000 Meters Emma McGill	Place 3rd of 47	<u>Time</u> 9:19.35

DAVID HEMERY VALENTINE INVITATIONAL FEBRUARY 10, 2023 ~ TRACK & TENNIS CENTER ~ BOSTON, MASS.

800 Meters Maya Dorer Alex Stasichin	Place 43rd of 248 86th	<u>Time</u> 2:08.08 2:12.63
Mile Emma McGill Anna Helwigh Emily Robinson	Place 42nd of 300 59th 80th	Time 4:40.95 4:45.93 4:50.83
3000 Meters Lydia Olivere Ariana Gardizy Amelia Arrieta	<u>Place</u> 16th of 299 83rd 129th	<u>Time</u> 9:02.81 9:37.43 9:50.60

TIGER PAW INVITE

FEBRUARY 10, 2023 ~ CLEMSON INDOOR TRACK & FIELD COMPLEX ~ CLEMSON, S.C.

60 Meter Hurdles	<u>Place</u>	<u>Time</u>
Preliminary Heats Jane Livingston	20th of 56	8.44
60 Meter Hurdles Semifinal Heats	<u>Place</u>	Time

BIG APPLE INVITATIONAL

FEBRUARY 11, 2023 ~ OCEAN BREEZE TRACK & FIELD ATLETIC COMPLEX ~ STATEN ISLAND, N.Y.

60 Meters Qualifying Caroline Carlson	Place 4th of 40	<u>Time</u> 8.04
Caronne Carison	4111 01 40	0.04
Preliminary Heats		
Myonica Jackson	10th of 32	7.90
Jada Thomas Alexis Martin	11th 20th	7.91
Caroline Carlson	21st	8.00 8.01
Caroline Carison	2181	0.01
60 Meter Hurdles Preliminary Heats	<u>Place</u>	<u>Time</u>
Jada Thomas	2nd of 32	8.88
Final Jada Thomas	4th of 8	0.04
Jada Thomas	4111 01 8	9.04
200 Meters	Place	Time
Myonica Jackson	7th of 84	25.51
Alexis Martin	16th	25.96
800 Meters	Place	<u>Time</u>
Kate Flynn	21st of 48	2:24.44
2000 35 /	DI.	m.
3000 Meters	Place	<u>Time</u>
Kinsey Pogue	6th of 32	10:10.51
High Jump	Place	Mark
Taylor Woodeshick	6th of 27	1.60m
Pole Vault	Place	Mark
Ashley Preston	1st of 28	3.81m
1101110 / 11001011	100 01 20	0.01111
Long Jump	<u>Place</u>	<u>Mark</u>
Caroline Carlson	9th of 42	5.18m
Shot Put	Place	Mark
Liv Morgan	9th of 53	12.13m
Faith Haught	21st	10.92m
Teresa Rotolo	33rd	9.80m
XX. *. 1.4 (F)	DL	M. 1
Weight Throw	Place 10th of 46	Mark 15.20m
Faight Haught	10H 01 40	13.20M

TIGER PAW INVITE

High Jump Roschell Clayton	<u>Place</u> 12th of 41	<u>Mark</u> 1.69m		

BIG EAST CHAMPIONSHIPS

FEBRUARY 24, 2023 ~ TRACK & FIELD CENTER AT GATELY PARK ~ CHICAGO, ILL.

SCORED EVENTS

5000 Meters Lydia Olivere Amelia Arrieta Ariana Gardizy	<u>Place</u> 3rd of 18 10th 11th	Time 16:13.50 16:58.34 17:06.20
Distance Medley Relay Villanova Anna Helwigh Alexis Martin Emily Robinson Emma McGill	Place 4th of 8 1200 Meters 400 Meters 800 Meters 1600 Meters	<u>Time</u> 11:25.95 3:28.06 57.99 2:13.27 4:46.65
Pole Vault Ashley Preston	Place 2nd of 10	<u>Time</u> 3.75m
Long Jump Caroline Carlson	Place 15th of 17	<u>Time</u> 4.98m
Weight Throw Faith Haught	Place 9th of 12	<u>Time</u> 14.85m

PRELIMINARY HEATS

Place

60 Meters

Time

Jane Livingston	3rd of 22	7.57 (Q)
60 Meter Hurdles Jane Livingston Jada Thomas	Place 1st of 15 8th	<u>Time</u> 8.40 (Q) 8.94 (q)
200 Meters Myonica Jackson Alexis Martin	<u>Place</u> 11th of 26 16th	<u>Time</u> 25.21 25.73
400 Meters Micah Trusty	Place 2nd of 21	<u>Time</u> 55.38 (q)
800 Meters Madison Martinez Maya Dorer Alex Stasichin	Place 2nd of 16 3rd 4th	<u>Time</u> 2:09.78 (Q) 2:13.24 (Q) 2:09.61 (Q)
Mile Anna Helwigh Emily Robinson Kinsey Pogue	Place 6th of 19 8th 17th	<u>Time</u> 4:49.35 (Q) 4:50.47 (Q) 5:07.32 (q)

TEAM SCORES			
<u>Team</u>	<u>Place</u>	<u>Points</u>	
Connecticut	1st of 9	84	
DePaul	2nd	30	
Butler	3rd	26	
Marquette	4th	23	
Villanova	5th	19	
Georgetown	6th	18	
Providence	tie-7th	16	
St. John's	tie-7th	16	
Xavier	9th	2	

BIG EAST CHAMPIONSHIPS

FEBRUARY 25, 2023 ~ TRACK & FIELD CENTER AT GATELY PARK ~ CHICAGO, ILL.

60 Meters Jane Livingston	Place 1st of 8	<u>Time</u> 7.52
60 Meter Hurdles	<u>Place</u>	<u>Time</u>
Jane Livingston	2nd of 8	8.40
Jada Thomas	5th	8.72
400 Meters	<u>Place</u>	Time
Micah Trusty	3rd of 8	55.27
800 Meters	<u>Place</u>	<u>Time</u>
Madison Martinez	1st of 8	2:05.31
Maya Dorer	3rd	2:08.92
Alex Stasichin	5th	2:10.62
Mile	Place	<u>Time</u>
Anna Helwigh	6th of 12	4:51.65
Emily Robinson	12th	5:03.84
3000 Meters	Place	Time
Lydia Olivere	4th of 21	9:16.12
Emma McGill	6th	9:19.53
Ariana Gardizy	12th	9:37.76
Amelia Arrieta	14th	9:41.21
4x400 Meter Relay	<u>Place</u>	<u>Time</u>
Villanova	9th of 9	3:58.45
Myonica Jackson	1st Leg	58.98
Alexis Maritn	2nd Leg	59.05
Anna Helwigh	3rd Leg	59.68
Emily Robinson	Anchor	1:00.76
4x800 Meter Relay	Place	<u>Time</u>
Villanova	3rd of 9	8:45.22
Alex Stasichin	1st Leg	2:12.62
Micah Trusty	2nd Leg	2:12.43
Maya Dorer	3rd Leg	2:09.65
Madison Martinez	Anchor	2:10.54
High Jump	<u>Place</u>	<u>Mark</u>
Roschell Clayton	4th of 11	1.66m
Taylor Woodeshick	tie-8th	1.56m
Shot Put	<u>Place</u>	<u>Mark</u>
Liv Morgan	9th of 12	12.42m

TEAM SCORES				
<u>Team</u>	<u>Place</u>	Points		
Connecticut	1st of 9	169		
DePaul	2nd	111		
Georgetown	3rd	99		
Villanova	4th	89		
St. John's	5th	83		
Marquette	6th	50		
Butler	tie-7th	47		
Providence	tie-7th	46		
Xavier	9th	8		